
   

 
 

   

  

               
                   
             
                   
                   
                   
             
 



       

                 
             

  

 

      

               

             
   

              


MyRoots = roots([1 0 2 4]);

OneZero = fzero('HappyQuadratic', -1);



  
    

     

          

     



           

             

               

             

              

             

         

          

       

   

    

   

  

    

   

   

  





   

  



  







  
    

     

     

              
             
        

                 

           

   

  

  

                 
            

'pi îs^%4.2f^or^%11.3f\n'

'more pi îs^%8.4f\n'

'or^%17.5f\n'

fid = fopen('myfile.dat', 'w')
fprintf(fid, 'pi îs^%4.2f^or^%11.3f\n', pi, pi)
fprintf(fid, 'more pi îs^%8.4f\n', pi)
fprintf(fid, 'or^%17.5f\n', pi)
fclose(fid)



  
    

     

               

        

 

               
                    
               
              
      



  
    

     

        

 

 

   





        





 







   

        



 





 

        





 







     



  
    

      

            
               
               

 









  

     
       
     

   
      
      

               
       

     

             

            

           

            

  



               

           

if nargin < 2
     return
elseif nargin == 2
     T=300;
end

R= 8.314;
F=96487;
E=-R*T/F* log(NAI/NAO);


